goboooog

e 190000014
gobobod 0O0obodd

gooogo

e 2300002900Py 0 POOOOODOODODOODO

Py0 POOOOOOOOOOOOOOOOOO
X00000o (B8P 000000000000

000 “X<e 00000000 {w:X(w)<a}00O0000000X <aO0O
0000000000000POO0O0O0O0000000 (—00,2] 00000000
000000000 Px000000000

o {w:X(w)<a}=XY(-00,a)) 000000 0OODOOOOODO
oooof0o00g SO0 To0ooooooBpCcTUOUOOOBO fOOOOODOO

fH(B)={s:s€S8, f(s) € B}
D000000X(w) € (—00,a) 0 X(w)<eDOODODODOD
e 0215200000 Fx(x)=PO0<X<z2)OOP{w:0<X(w)<z})OODOO

UboboobodbuoobUbDFkE O0z>000000000000000000

x<0000000000<X<z0000000000P0<X<gz)=00C0
D00000000000000000000000
P(X<z)=P(X<0)+P(0<X<2)00000000 P(X<0)=00000
D0000<x<10000 Fx(x) 0000000000000000000



